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All questions are compulsory.

¥ HHIF 1 Y 5 q Afaery ST Ue € | T I9F W 1 37 e fed ¥ |
T 1 ST 7 T3 AL 1 I H ST |

Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in / word or /
sentence.

T ShHIh 6 T 10 Teh Tk T¥ W 2 3ieh mafed § | (TR-HH 30 ¥11)
Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)

T ShAIR 11 § 22 Toh T U9 T 3 37 STeifed | (AR-HH1 50 7153
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
T AR 23 T 4 3 A6 § | (IR-HH 70 =)

Question No. 23 carries 4 marks. (Word-limit 70 words)

T SRAI 24 § 26 T T T W 5 3 SEfed § | (-
700 ¥<3)

Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
SR MY B, IRl W d AHiferd fost 9 |

Draw clean and labelled diagram wherever necessary.
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fReehdl TTeH | G o1 81 T Sl ©, T4 2
Bleeding stops by rubbing alum, why?

ferdiohd Teehlglal 1 & 2

What is denatured alcohol?

Fgd FIEH H1 I Thd wed § 2

What is called oil of bitter almond?

e THH i qor | fgdias T i R 8id 8, 3 2

Why secondary amines are more basic than the primary amines?

39 H IUfed ThU I A1 AT |

Name the sugar present in the milk.

afq 22 AH S (CgHy) # 122 TM & egrainmse (CCly) Teit g,
Tl SIS TE T SZHIRIES o SHM Fiaerd ot TUMT Shifeld |

Calculate the mass percentage of benzene (C4Hy) and carbon tetra-

chloride (CCly), if 22 gm of benzene is dissolved in 122 gm of carbon

tetrachloride.

ol ST A € ? THIRY |

What is energy barrier? Explain.

Iepte Tl o IRHTY] SR JerTcHsh €9 § 98 g1 §, 1 2

Noble gases have comparatively large atomic size, why?

BIRHT TS 3ga Afufshan sl TaEfer Tl 9fgd HemsT |

Explain Hofmann mustard oil reaction giving chemical reaction.

THeeERrRe (Ta) ¥ TS (Afertdia) H8 g fhan S g ?

How aminoethane (ethylamine) is obtained from acetaldehyde (ethanol)?

[1]

[1]

[1]

[1]

[1]

2]

2]

2]

2]

2]

NM-39 A



[31]

YeA-11 &I o1 oW faaes 59 g ST fafau | [1+2=3]
State Henry’s law and mention its two applications.
YA-12 TN (TTH) T AUE Al fohd gd B ? T Saew dfed
THART | [3]
Explain what is called pseudo-first order reaction by taking one example.
Y9-13 59 Tal U9 54 foieft datse # o oim fafau | [3]
Write three differences between Lyophilic and Lyophobic colloid.
Y9I-14  TARRIA H o SETRE hd a1 Sl § 7 9eh SEIAES &
TorisTen U1 1 TS | [1V4+1%=3]
How sulphur dioxide is prepared in laboratory? Explain the bleaching
property of sulphur dioxide.
U9-15  Sd-gaeH AN # ¢ 2 TRl q Sid-gae AR ot |
fafeT) [14+2=3]
What are inter-halogen compounds? Give the structures of any two
inter-halogen compounds.
yg-16  fefafed Sygegast difiei & [UPAC ™ fafa . [1+1+1=3]
(i) K,[Ni(CN),]
(if) [CoCl,(en),]Cl
(iii) [Cr(NH;) >
Write the [IUPAC names of the following coordination compounds :
(i) K,[Ni(CN),]
(ii) [CoCl,(en),]Cl
(iii) [Cr(NH;) >
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SN! (us-enfoess -8l gfaeerds) aifufsean =01 3o wfed
HHEAET | [3]
Explain SN (uni-molecular nucleophilic substitution) reaction with

example.

forta @ =1 <ifiTes 9 9T i ? [1%4+1%4=3]

How the following compounds can be obtained from phenol?
(i) 2,4, 6-Tribromophenol

(if) Benzene

faferamem =t stfatet Serieor fafy #1 § ? = =% sifonat fafu & 2 R
s [1+2=3]

What is Williamson’s continuous etherification process? Is it a

continuous process? Give reasons.

T 1 B ? SHeh1 Wla Tl 97 Ua 394 fafau | [1+1+1=3]

What is Urotropin? Write its structural formula and uses.

FEHl g, To—

() THiefeegEe Hefe faeem ¥ fran i §;

(i) THfew T wEnRE Yeraargs A foran war § 2 [1V+1%=3]
What happens, when—
(/) acetaldehyde reacts with Fehling solution;

(if) acetic acid reacts with phosphorus pentachloride?

DNA d91 RNA # &g a9 3T=<R fafau | [3]
Write any three differences between DNA and RNA.
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yya-23  freAfafea g & o § favg s [2+2=4]
(i) TohEed SiieTeh Ta Uehsh hiftSeh]

(ii) AR s Ta sTehaen iy R

Distinguish between the following pairs :
(i) Crystal lattice and Unit cell

(if) Tetrahedral void and Octahedral void

sTqar
OR

-k = (f.c.c.) ¥ F 7?2 o g1 IwEmww) Ife oa |
TLATLSTT Rt HEAT FMd hIfT |

What is face-centered cubic (f.c.c.) cell? Explain with diagram.

Calculate the number of atoms in unit cell.

U9T-24 IRy o o § 2 59 TRl &Y STuEnT i 9EeET | [3+2=5]

What is Kohlrausch’s law? Explain its any two applications.

srar
OR

TSl AfIfshar o1 ISR Higd HHHEY | fafire =efehdl T Hie”
Tkl ! qRYT T gehTs feafEu |
Explain the redox reaction with example. Write the definition and

unit of the specific conductance and molar conductance.

Y9A-25  TFUARE ST d1 § 7 OROAIES STghed o &l hRUl Td g JRumM
fafeT) [1+2+2=5]
What is lanthanoid contraction? Write two causes and two

consequences of lanthanoid contraction.
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TehHY dcdl (d-oTh dcdl) Tord gd € 2 o gfed auzmst—
(i) EHHOT UIqE q1 STk SATUHIS ATk ST Irehid
(i) HHTOT YT HrHIE: T TR s €

What are transition elements (d-block elements)? Explain giving reasons—

(i) transition metals and many of their compounds show

paramagnetic behaviour;

(i) transition metals generally form the coloured compounds.

usa-26 frAfafaa afufeanei @1 wusmeu (had TEEMAE GHR
fafem) - [1x5=5]

() Ufafeettnto

(O IREEIEIESNIETY

(iii) TISa-shTad fufshan

(iv) Tme sAfafsman

(v) FETET AT

Explain the following reactions (write only chemical equations) :
(i) Acetylation

(if) Decarboxylation

(iii) Friedel-Crafts reaction

(iv) Schmidt reaction

(v) Clemmensen reduction
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39 FEfafEd T4 &l Afedd 2 =00 § ffT YR 97— il ?

(i) UAE | 9rdH

AN

(i) S~ICEIREE § SR

(iii) T | 3-TEIRIT A
(iv) SiSigh T 9 doceeee
(v) SEESE ¥ 1-HHeugAa

How will you bring about the following conversions in not more than

2 steps?

(i) Propanone to propene

(ii) Benzaldehyde to benzophenone
(iii) Ethanol to 3-hydroxybutanal
(iv) Benzoic acid to benzaldehyde

(v) Bromobenzene to 1-phenylethanol
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